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QUESTION 1

During an assessment for an organization\\'s cloud design, a cloud architect discovers that developers will be creating
applications for tenants. The applications will self-scale based on an internal trigger. The architect has included CMP
components in the design that will support this requirement. What else should the cloud architect consider to meet this
requirement? 

A. CMP account with elevated privileges exists that can be shared with developers 

B. Mechanisms exist for changing the type of consumer resources automatically 

C. Mechanisms exist for re-installing CMP components for scaling 

D. Sufficient consumer resources exist to support the application elasticity 

Correct Answer: B 

 

 

QUESTION 2

You are analyzing the performance data to avoid oversizing of a CI solution. What date and time frame should you
use? 

A. Average production time over multiple days 

B. Peak production times over multiple days 

C. Average production time over a single day 

D. Peak production times over a single day 

Correct Answer: D 

 

 

QUESTION 3

You are designing a cloud backup solution. Consider the following requirements when sizing the backup target: Total
amount of data to be backed up = 2 TB (2000 GB) Full backup once a week Retention period for full backups = 2
months Daily incremental backups (assuming an average 10% change in data) Retention period for incremental
backups = 1 month No Compression or deduplication Number of backup copies = 1 What is the total capacity, in GB,
required for the backup target to accommodate the backups? 

A. 13, 200 

B. 16, 000 

C. 21, 200 

D. 26, 400 
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Correct Answer: C 

 

QUESTION 4

Case 1 

Refer to the exhibit. 

Your company recently negotiated several contracts with new customers to use its proprietary eCommerce system. As a
result, the customer base has grown rapidly, which has introduced several challenges and requirements. 

Business requirements: 

Applications need to scale quickly 

Metrics and reporting to anticipate business trends and efficient use of resources External customers are looking to
license the eCommerce application Other considerations: 

Applications need to be recorded for the public cloud 

Address security vulnerabilities for customer data in the cloud Refer to Case 1. 

You are designing a Do-It-Yourself private cloud solution. What is the recommended way to provide applications the
ability to scale quickly? 

A. Increase the overall resource capacity of the system 

B. Restrict the component choices to within a single vendor 

C. Validate new element compatibility against the SSM 

D. Ensure the IT staff understands the configuration options 
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Correct Answer: A 

 

 

QUESTION 5

An organization is considering the use of a cloud gateway to back up services in their private cloud environment. They
want to use their existing backup application. What should they ensure about the cloud gateway appliance? 

A. Supported by the backup application Supports the target object storage APIs 

B. Supported by the hypervisor Supports the target object storage APIs 

C. Supported by the backup application Supports the target SMB storage APIs 

D. Supported by the hypervisor Supports the target SMB storage APIs 

Correct Answer: A 
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